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2018 July New Check Point 156-215.80 Exam Dumps with PDF and V CE Free Updated Today! Following are some new
156-215.80 Real Exam Questions:1.]2018 Latest 156-215.80 Exam Dumps (PDF & VCE) 417Q& As Download:
https://www.braindump2go.com/156-215-80.html2.]2018 L atest 156-215.80 Exam Questions & Answers Download:
https://drive.google.com/drive/folders/ IvOXBM Zxb5SRAKM TgVZmV FI XgM|8j T CfA2usp=sharingQUESTION 295Which remote
Access Solution isclientless?A.  Checkpoint MobileB. Endpoint Security SuiteC. SecuRemoteD. Mobile Access Portal
Answer: DQUESTION 296What component of R80 Management is used for indexing?A. DBSyncB. API ServerC. fwmbD.
SOLRANswer: DQUESTION 297Which NAT rules are prioritized first?A.  Post-Automatic/Manual NAT rulesB.
Manual/Pre-Automatic NATC. Automatic Hide NATD. Automatic Static NATAnswer: BQUESTION 298What is the
difference between an event and alog?A. Events are generated at gateway according to Event PolicyB. A log entry becomes an
event when it matches any rule defined in Event PolicyC. Events are collected with SmartWorkflow from Trouble Ticket systems
D. Logsand Events are synonymsAnswer: BQUESTION 299The system administrator of acompany istrying to find out why
acceleration is not working for the traffic. The traffic is allowed according to the rule base and checked for viruses. But it is not
accelerated. What isthe most likely reason that the traffic is not accelerated?A. Thereisavirusfound. Traffic is still allowed but
not acceleratedB. The connection required a Security serverC. Acceleration isnot enabledD. The traffic is originating from the
gateway itself Answer: DQUESTION 300During the Check Point Stateful Inspection Process, for packets that do not pass Firewall
Kernel Inspection and are rejected by the rule definition, packetsare:A.  Dropped without sending a negative acknowledgmentB.
Dropped without logs and without sending a negative acknowledgmentC. Dropped with negative acknowledgmentD. Dropped
with logs and without sending a negative acknowledgmentAnswer: DQUESTION 301Which one of the following is true about
Threat Extraction?A. Alwaysddiversafileto userB. Workson al MS Office, Executables, and PDF filesC. Cantakeupto3
minutes to completeD. Deliversfile only if no threats foundAnswer: BQUESTION 302Which is the correct order of alog flow
processed by SmartEvent components:A.  Firewall > Correlation Unit > Log Server > SmartEvent Server Database > SmartEvent
ClientB. Firewall > SmartEvent Server Database > Correlation Unit > Log Server > SmartEvent ClientC. Firewall > Log Server
> SmartEvent Server Database > Correlation Unit > SmartEvent ClientD. Firewall > Log Server > Correlation Unit > SmartEvent
Server Database > SmartEvent ClientAnswer: DQUESTION 303Which of these statements describes the Check Point
ThreatCloud?A. Blocks or limits usage of web applicationsB. Prevents or controls access to web sites based on categoryC.
Prevents Cloud vulnerability exploitsD. A worldwide collaborative security networkAnswer: DQUESTION 304Packet
acceleration (SecureXL) identifies connections by several attributes. Which of the attributes is NOT used for identifying
connection?A. Source AddressB. Destination AddressC. TCP Acknowledgment NumberD.  Source PortAnswer: C
QUESTION 305When defining QoS global properties, which option below isnot valid?A.  WeightB. Authenticated timeoutC.
ScheduleD. RateAnswer: CI''RECOMMEND!!!1.]2018 Latest 156-215.80 Exam Dumps (PDF & VCE) 417Q& As Download:
https://www.braindump2go.com/156-215-80.html2.]2018 L atest 156-215.80 Exam Questions & Answers Download: Y ouTube
Video: Y ouTube.com/watch?v=0M avapQ5r\Wk
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